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Use the diagram to prove that a* + b = ¢

Complete the table to test if the following conjecture is true.
“The product of two consecutive integers plus the larger of the
two integers is always a perfect square.’

3]4[3xa+4][16
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-6|-5

11]12
8|9

Use your results to prove the conjecture.
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Exercise 1J

1 Copy and complete this table simplifying the expressions.

871
100-9r
“a
951 - 94!
(4D —nt
2 Evaluate:
4 5% 31

8!x 6!

6! b 6!

3 Simplify:
al+ (n=1! nl=(n-1)!

5!

(nt) -1t

(n+1)! (n-2)!
i EXAM-STYLE QUESTION
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